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POLITICAL SCIENCE
( Major )
Paper : 6.3

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Ansuwer either in English or in Assamese

OPTION—C
{ POLITICS IN N-E INDIA )

1. Answer any three of the following : 10x3=30
were g T cacen fofbl o Tet 941 :

(a) Do you think that union of Sylhet with
Assam was artificial? Write a note on
the separation of Sylhet from Assam.

IR e fieEns erel i wiftE I
SR ? SPEa o et (e R o
Gt o |

(p) What were the main considerations for
bringing Princely States into Indian
Union? Why accession of the Princely
State Manipur proved more difficult?

8A /859 ( Turn Over )



(c)

(d)

(e)

8A/859

(2)

THT W NS ABe ICEAR A
FEANS @FERR g [ Reavar sfeen
C2feer 2 qEpfre I Tfde@me ke FAh R
@R wfbe fer e cafee 2

Explain the impact of language politics
on political development of multilingual
Assam.

TSIAF PTE AT [P Siffs Taafes
eI A 90

Discuss critically the circumstances
that led to the reorganization of North-
East India.

TEI-7@ ©RET oAl SIeReE fam
AfRfEfScar SETES S 54 |

Do you think that the emergence of
regional party is an important feature of
changing nature of politics in Assam?
Explain.

e wR o Wik e s
ARG rEAT oAFfe ab @F Ay
el SR 2 RN T4

Elaborate the reasons for which six
ethnic groups of Assam are demanding
ST status. What is the response of the
government towards the fulfilment of
their demands?

& RIS SR 2 TP SWepfoe e
T R IR, MR B s @
{9 S DIPA AHIR (@ ?

( Continued )

(3)

2. Answer any three of the following questions :

5x3=15

oo gl R e fofb o e 3 -

(a) Discuss the Assam Accord of 1985.
=P 3%, Seved R scamn 34 |

(b) What were the reasons for the
establishment of a University in Assam?
e @3 RaRkmer of$s v TRIER
& wnfeet 2

() How can political settlement resolve
the problem of separation effectively?
Explain briefly by giving example of
Mizoram.

YAFORME  TPUE ISR AGAD
TNSME @Feaes Wiy R =2 fReaams
TR wfR{ICS 10 A4 |

(d) Write short notes on (any one) :
I @I @b eo1T 5 Gt o
(i) Gopi Nath Bordoloi
CIATIR I3
(ii) Assembly Election, 2018 in
Nagaland and Meghalaya

TS HF IS IS (Z[ 205y
5 el e

(e) Write a brief history of Naga revolution.

w51 Rcares @3 53 @8 foren |
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(4)

3. Answer the following questions : 2x4=8

ST fm erpiyze s o

fa) In which two years, the strength of the
Assam Legislative Assembly was fixed
first at 108 and then increased to 126?

@F Yol q2q° P RAFPeR TR WA
YIS Sov & HF OF RS TR iRy o2
S0 & @ 4 Cafee 2

(b) Write any two causes for the rise of
language movement in Assam.

TS O AT S {51 F1R ford |

(c) Write briefly about the State
Reorganization Act, 1956.

ddey B &S o1 o9 Wiz REa v4is
forn

(d) “Under the Government of India
Act, 1935, Assam had a bicameral
legislature.” Write briefly about it.

“TRS PPN HEW, >59¢T TENS WS
fa-oma Reemes wife 1”7 R R syt
forar |

8A/859 ( Continued )

4. Answer the following questions :

(S)

ore fu eppTEd Ted ford

(a)

(b)

(c)

(@)

(e)

8A/859

Who was the Governor of Assam at the
time of Indian Independence?

TSRS FRTOETS] TIHS SPHE A& (M
e ?

Which Schedule of the Indian
Constitution deals with the adminis-
tration of tribal areas in Assam,
Meghalaya, Mizoram and Tripura?
N, (9EE, RN e @W Eﬂﬁfi%
GERR WY 0TS ©[Fedq Ry @A

P e 2

Who is the author of the book, Ethnic
Autonomy Question in North-East India?

Ethnic Autonomy Question in North-East
India TS 274 EEFNI @A ?

What is the full form of NRC?

NRC-3 *ff ®efeio! fora |

Who was the first lady member of
Assam Legislative Assembly?

e RYFPeR  g9USRIe w3e T W
wfee 2

( Turn Over )
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(6) | 7 )

(/’  Which autonomous council came into OPTION—D

existence in 19937

( GENERAL SOCIOLOGY—II )
Sh50 BIC (AN TSNS AfREE oo
G2feE 2

1. Choose the correct answer : 1x7=7
% Teqn! qIfe e :

(a) “Culture is that complex whole which
(g9 The Assam Association was formed includes knowledge, belief, art, morals,
in 1903 with of Gauripur as the laws, customs and habits acquired by
President. : men as a member of the society.”
Who is associated with the statement?
ddow
“ mﬁ;"ﬂ '%‘Em Y w7 e (TR R GO TS RO LR WG A G,
<t RIS SN EER fogmt, o, tfee, wiw, - w@
(Fill in the blank) o wifrq SR 29 Aol 17
(<10 312 o3 F91) TfEHR w9 (I wive ?
(i) E. B. Tyler
2. R. GFm
(i) A. P. Walter Paul
Q. 4. eIBR =
(iii) Edward T. Hall

eI 5. 79

(b) Social change is usually
STHIES “fRada SRS

(i) continuous
sifeTe
(i) insignificant
RIEIC)
(iii) very fast
S g
8A/859 ( Continued ) 8A /859 ( Turn Over )



(8) (9)

(c) Which of the following is a formal means () The book in which E. A. Ross dealt with
of social control? the concept of social control is
oE TCEY FAERT [OqS (@WE TGS Sfee fggee 4" 5F E. A. Ross-d
fRargeR S T = ? : A B9 e 2

(i) Belief / fumi
(i) Means of Social Control

(i) Legislation / R

Ty = SiRwe ICHel
(iiij) Folkways / (A% “=*[{l
(i) Social Control Through Ages

‘SfRIe FCRE (@ TR

(iii) Social Control

(d) The author(s) of the book, Human
Society is/are
Human Society <A @ s/

EAFEAR 2A
‘sfecae FCHE’
(i) Maclver and Page
T ESR TF S
(i) Kinsley Davis (g) Oswald Spengler is connected with
ReTege cofen the _____ theory of social change.
(i) Lapiere Oswald Spengler FMIfée “Afwé=
e TGO NS WYS |
(e) Through the process of the (i) Linear
individual becomes a social person cﬁqgoiﬁis
and attains personality.
e e wee e e I (i) Cyclical
offie = wF WY A I | A
{i) culture / FeGS (iiij) Conflict
(ii) social control / e fwa WS

(iii) socialization / STHIEPEAT
8A/859 ( Continued ) 8A/859 { Turn Over )




(10)
2. Answer briefly the following : 2x4=8

@ers francard oY Teq fran

(a) Name two elements of non-material
culture.
efifefa 37e=pfeq o1 ST A fort |

(b) Give a definition of ‘social control’.
Sife fAagerm’ «br sige faan |

(c) ldentify two causes of social change.
STHIfERs “AfAaéa 751 F1Re Teay 41 |

(d) Mention two factors of ‘socialization’
process.
AR 2AfFwa 1o Toime Teay 39

3. Write notes on the following (any three) :
5x3=15

et fCaEa 5 G foran (R caren o) -

(a) Meaning of culture
Segfes sy

(b) The role of customs in social control
i e Ffe-Rea s

fc) Revolution as a cause of social change
Arferss Afdadeq F1as 2o Re

(d) Impact of culture in socialization
ANGFFITS AEPeq de[

(e) Formal means of social control
e g e Temyz

8A/859 ( Continued )
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4. Answer any three from the following : 10x3=30

@t 1 et fofabra Teq 4

(a) Describe the factors of cultural
variability.
Hepfed foare FRFTE 3641 397 |

(b) Discuss the need and importance of
social control in society.

WWW«W@%@W@W
fRacw e 54 |

(c) “Technology changes society by
changing our environment to which in
turn we adapt.”

Depict a picture of the impact of the
technological changes on the social
order.

“oRfee  RTEE WNR TR sifiere
AT Wi Reame = @b e oz
FE 1

wfEre ARG SHERRES (e orsi
3 foq g« |

(d) How does the process of socialization
affect the day-to-day life of an
individual?

FAEGFF dfea a& afeq v S
femeq reifs a2
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(12 )

fe) “The distinctive human way of life that
we call culture did not have a single
definite beginning in time.”

Elaborate the process of evolution of
culture in society.

‘it Fes IR @R Rew @@ amgRd
AFAE @ 9F e e Wes @[l
e 17

HOGed TG ARG AR ey 340 |

(i Give an account of the role played by
friend, religion and the State in
socializing the people.
fes ANEFRTT Fe I, o WF AR &
S o2 4 O O A i o

* kK
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